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Read carefully the Instructions on the Back Cover of this Test Booklet.
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1. The Answer Sheet is inside this Test Booklet. When vou Ty e e e T TR | THF IS A==l
are directed to open the Test Booklet, take out the Answer | 1 78 71 [EFE (SSE TS (7Sq =R | '

T
Test Booklet No
i@t sfkeeia et
BENGALI+ENGLISH

Sheet and fill in the particulars on ORIGINAL Copy s cxre v (rent 207, Soeeraf (3w I WS w3
carefully with blue/black ball point pen only. @g wre fRarRd T3 simene  afRHRR e wyww
2. The test is of 3 hours 20 minutes duration and the Test Booklet Ma/=wen 97 *w s == % G MERE A

contains 200 multiple-choice questions (four options
with a single correct answer) from Physics, Chemistry |2- #RPHTR TG 3wt 20 Muiina9e 30w o ot

and Biology (Botany and Zoology). 50 questions in TR €32 S Fme (S e mdifem) Rewe
each subject are divided into two Sections (A and B) 200 G wafResin uy wicm) (9ol o= Soa-7ifEe v Res

as per details given below : =rarR) wrETE fEm T e
(a) Section A shall consist of 35 (Thirty-five) Questions SRSA[TCHR), Pl = pY o, " ‘

in each subject (Question Nos - 1 to 35, ‘fﬁﬁ 8 (A 932 B)-9a S 1 W
61 to 85, 101 to 135 and 151 to 185). All questions (a) Yo A= a2z farg 35 6 ery (2rg w12e9m - 17373 35,
are compulsory. -

(b) Section B shall consist of 15 (Fifteen) questions in ull SHEF v ].Dlatﬂiwf RAREES SRy aa)
each subject (Question Nos — 36 to 50, 86 to 100, 136 TR | R X :
to 150 and 186 to 200). In Section B, a candidate (b) ¥e BT 2rerw’ fauey 16 i e (org Seam- 36 T2ta 50,
needs to attempt any 10 (Ten) questions out of 15 86 TITT 100, 136 TUTH 150 992 186 TAT 200) TCZ |

(Fifteen) in each subject.

Candidates are advised toread all 15 questions Y3 BzE, R S 15 6 27 cortes cueaes

in each subject of Section B before they start 10 5 erem Tan T firs =)

attempting the question paper. In the event of a * 3w Tewa Boot crew T (0 ojafETE SEa crewma LS

firat ton questions answered by the candidate | Y9 B¥ 72 15 2 o503 3% comn i s e

shall be evaluated. it wvea $ea o wrmes +ArwIdE 9| SRS daw wiih
3. Each question carries 4 marks. For each correct response, AT IR TR w0 A

the candidate will get 4 marks. For each incorrect |3 ofy s e 41 wrrers s B Saran wy ~Arw@

response, one mark will be deducted from the total ¥
scores. The maximum marks are 720. 4 TR LA ATEIS AR A SGLAA Tl | | o

4. Use Blue/Black Ball Point Pen only for writing =01 T | e == 720 | ,.
particulars on this page/marking responses on Answer |4 % PR Twred) AR @ STAEE T W P
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5. Rough work is to be done in the space provided for this T2 TG T TLR IR I@ | .

‘purpose in the Test Booklet only. 5. WY T e FriTrs 1 2Te $a0s @ |

In case of any ambiguity in translation of any question. English version shall be treated as final.
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logy : Section-A"(Q. No. 151 10 185) ]
. Mateh List I with Lig( ] -

1 st = .
:‘sub PPhases of (L‘:;'nlnlr
N IC
Pu_-ophasp )] characters)
A. Dmkll]C{liIS I Syllﬂ[;lonemal
complex format;
p, Pachytenc L. CO'H[:)letion :igtlon
terminalisation of
chiasmata
C Zygotene 1. Chromosomes
' look like thin
threads
p. Leptotene IV. " Appearance of
recombination
nodules
Choose the correct answer from the options given
Wi
belo A-1, B-I1, C-IV, D-IIT
A-II, B-1V, C-1, D-1I
A-IV, B-IIL, C-1I, D-I
(4) A-1V, B-11, C-IIL, D-I
152 Consider the following statements :
A. Annelids are true coelomates

B. Poriferans are pseudocoelomates

C. Aschelminthes are acoelomates

D. Platyhelminthes are pseudocoelomates
Choose the correct answer from the options given

low :
Aonly (2) Conly
D only

(4) Bonly
153" Match List I with List IT :
List1
A. Pons

List IT '

I.  Provides additional
~ space for Neurons,
regulates posture
and balance.
Controls
respiration and
gastric secretions.
Connects different .
regions of the
brain.

Neuro secretory
cells _
Choose the correct answer from the options given

W
@3 AL B-IV, C-I1, D-I
A, B-III, C-11, D-IV
(3) AAI, B-I, C-III, D-IV
(4) A-I1, B-III, C-I. D-IV

154 Which of the following factors are favourable for
formation of oxyhaemoglobin in alveoli?
High pO, and Lesser H* concentration
G) g“’ P062 and High H* concentration
W pCO, and High temperature

B. Hypothalamus 1L

C. Medulla 111,

D. Cerebellum IV.

151 Gl |
LR TR .
Gt | tola "‘T"”‘T‘:; .
(Bwon] o ol
O (P
A opras ¥7) L)
. 12021 L suBamsiiwifme
B ] FAES A5
R I #nnemisE s
. GAE MAIPG
C. @R NI st Agee
EBILmesinad
I T3
D. wmiwita IV, sjaateafs o
Ritoa stansf caeh aifsa Wod Ridiver 54
(1) A-I, B-II, C-1V, D-III
(2) A-IL, B-IV, C-1, D-IlT
(3) A-1V, B-T, C-II, D-I
(4) A-1V, B-II, C-I11, D-I
' 152 Rrsa Rgfosf facasen a4

A, PRy wgE me 23 BEm g g
B.  sifywan gz =@ == Brer @ gl
C. @ fiEan =4 Meenafie @i
D. snftrmafieas za v Bieiagg @i

" Aieed Ppest as Afbs od [@rE J1:

(1) @A (2) ®w=C
(3) wa=sD 4) wa B
153 ot 1ad st oifa I e
offea 1 i 11
A. sEm ' I BYama oe
wifafyE saE d,
RETTl R RUE D
eIk
- frstget F3
B. =miBustrasEmms I =39 ads miss
w5dol fyEger Fid
C. e III. wfors ffe
' ST AL
- ¢SS sIsta e
- D, eIEEE IV. Rigwfiesi
@

Rits st Reestfit (it afds Iod Fidiea ¥4
(1) A-HI, B-IV, C-IL, D-1
(2) A-LB-I, C-I, DIV
(3) A-II, B-I, C-IIL, D-IV
(4) A-IL,B-lIL, C-L DIV
: G o -PxeIceie

) High PO, and High pCO,

R Ber .
~*1gali+English | 35

154 - poigid qiyafne gt blel
el gIio 3 ?
(1) o5 pO, wds HestOH H* cl:i e
(2) Rimt pCO, 9t o HY @i wee
(3) PrepCO, @t Wt VP!
(4) Ww pOy u vt pCO; |
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188 I;“”mfi"l“ are the stages of cell .
{*h Em" 2 phase B. Cytokinesis
- Sxanthesis phase Kar nkil'lCF-iS
L. Gap 1 phasce 3 D. Y
Choose the correct! dequence of stages
options given below:
E-B-D-A-C (33 (2) .B-D-E-A-C
E-C-A-D-B (57 4) C-E-D-A-B
156 Three types of musdles are given as a,

Identify the correctimatching p2
location in human body :

(@) ®) Z Ry

Name of muscle/location
(a) Skeletal - Triceps
(b) Smooth - Stomach
(c) Cardiac - Heart.
(a) Skeletal - Biceps
(b) Involuntaty - Intestine
(c) Smooth *Heart.

(a)

Involuntdry - Nose tip
(b)

(©)
(a)
(b) tal -
(c) Cardiac “'Heart.
157  Match List I with List II :

List I
Down’s syndrome |

2)

3)

“4)

List IT

A. )
B. a-Thalassemia ™ 1.
C. B-Thalassemia - I11.
D. Klinefelter’s IV.
syndrome ' . )
Choose the correct ghswer from the options given
below : ) _
1) A-II, B-11I, CglV, D-I
A-IIL, B-1V, (',H , D-II

A-IV, B-1, C-11, D-1II
(4) . A-1, B-1, c-mij D-IV

158 Which of the fﬁgjowing are Autoimmune

disorders?

A. Myasthenia é;‘dvis

B. Rheumatoid &ithritis
C. Gout LJi '
g. Muscular dysiophy

ions given below :
A, B & E only
C,D & E only

R6_Bengali+English |

division :

ir along with their

11th chromosome
‘X’ chromosome
215t chromosome
16th chromosome

Systemic Lupus Erythematosus (SLE)
Choose the most appropriate answer from the

(2) B,C&Eonly
(4) A,B&Donly

from the

b and c.

156

157

oo w>

158

frsarfibrenfan 28 [ZOE B ETE e F B VI ) £
Arst 2 AL

G R BRI Ll

seearst A1 fraeafha ma

EIELEIEI ]

st L g

Rited ety g A4 w-ae A A
(1) E-B—D?A-C}_‘.__ (2) B-&?Eéiw "
(3) E-C-A-D-B (4) C-E-D-A-B

Riewet ool 414 (5170 a. b 94e ¢ a4 5w Mol 54
MAAALE QU TPART A= AMSS AP BiA16 49 .

moOw>

(b)
AILHCA 10 [ SPar

(1) (a) oBans- RpNatestN

(b) =HerLstN - A1

(c) =isesi*N - AieBey

(a) oiRaestys R o1

(b) witetfozata - o

(c) mapetusrn ey

(a) oitstforp - i ol

(b) @iBawst =ik

(c) =isest ﬁ-_giei?{ay

(a) woperest N - AR

(b) wifbarstr - SARYE

(c) =gt - ey

aifti#1 1 a3 Aol [ tHes @

wiftar | 0 it 11
oide affo @rEma 1 110 @
o AT Rt (13 1. X ereansrs
B -t 451 L 215t @anan
s et () V. 16t @sesr
Gtel et it

fRyea Raaest sffel (A RiF+ o Ridied #4 2
(1) A-IL B-II1, C-1V, D-l

2) A-l, B-IV,.E-I-I, D-11

€3
€))

@)

3) A-1V, B-I, C-1l, D-III
(4) A-lL, Bl C‘L I, D-1V
Rigoa Grasfa oAl it
A, mEARiE gi_;i'f&m

B. R®&uisiy ﬂr!zﬂ'ﬂ.fﬁm

C. G 419 o
D.

o Fapld ?

Mgl 21§

E. Bidsis gl Rt
Rigsa stmonefR1 (atb AN LTINS
(1) e A, Buadt E (2) tbel B, C
3) tHe C, Due E (4) et AB

asmdepipt (SLE)

Wil 1S11bel B
wdtE

[CE D
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Given below are two statements : one js labelleq

159 as Assertion A and the other is labelled as 159t it gty s i 94 Proonf A a4
Reas : At w1 R
Reason R . N ' ‘ , .
Asscrtlon)\ 0 S'H acts,upon ovarian follicles in RImStnfe A : sGiniod Maanng i aae
female and Leydig cells in male. o s
ccasﬂn R: Gl’OWing P'Haria!l follicles secrete 1thiad R et dstd FSH Bran 4ol
Rstroge“ in female whil\éI interstitial cells secrete R : gLago Ao e Sute
e . : o
ndrogen mn male hl.ll'l'laﬂ‘l Pemg. WAL SEBRBI BG4 STYZL ANAGIA hede] Bl
a the light of the abovg statements, choose the Boaese FPeeteceeatd et B .
" ect answer from the options given below : _” e Prqflovaard outsiita fausd Praespf e ke
corf Both A and R are true but R is NOT the Yol Rrtivar #4:
» correct explanation oA, (1) Aa4sR 43 5 a1fb a4z R, A ad afha aneai e
is fa Y
A is true but R1s f;ﬁj}sc 0) Axfes g B grd
A is false but R 1s tt%le ' )
Both A and R are true and R is the correct (3) AgafgR ﬂfk-r?:r
' — : .
@ explanation of A. U (4) AcasRyAR b o R aat A @d 3154 45
; 128
iven below are tWo StE i_géments : el 160  Rits 9B Fefs o ol

60 GV 1. In the nephron, the descending limb L : 2 |
St:atem(’:ﬂltc I-ien le is impermeable to water and Pt | : erapteld taetella ofistd oIl 41 Raetsrih s,
of loop O Jectrolytes GLetd ST B! aai‘sfm Ritastar ACAGT (@1l

toe - ,
enneab:::tu : The proximal convoluted tubule frgfts 11 3 SAA1AS ARBIA ANG A4l F0T01RIA
ment II : ’%’ E ( ;
'Stalti';e‘l by simple 0 umna’ b; - bO"(}Er A-z18 yE o) Al ads @R g
15 : e surface area for e
epithelium and mcreasf_ss th oot Gt A4 ﬁ‘"‘k'
lon. X 4 eElE s w152
,-eabsorptlfznof the.abo % statements, choose the Woaa Rl syeRd ppjeies N uns R
In the llgh Sier from th p‘tions given be|0w ' A A W lemﬁafg?lﬁ‘l'.
ans .
mnegom Statement I El&d Statement lilafe 1(_fallss:;a (1) Pt | s P R
i *But. Statement I 1s 12 - _ B
(2 Stalemcﬂ:} :z tt‘:;see but Statement II is true (2) fagfe [ ol Py i 11 g=
Statemen _ _
8 Both Statement [ and Statement II are tru€ 3) Prfts | gt Pog Crafts 11 5155
3 2+ Rl GwaR A%
below are two stafements : one is labelled | (4) FfoTads ﬁif@{g 2
iven be ] : -

3 S;VAsscrtion A and thE other is labelled as. | ped )
Reason R ' .| 161 Rus giE G eGAT GRICR: w3l RrstnfFA adt
Assertion A : Breast-fééding during initial perlt?d et R Pt B0 1 RO :

; i » doctors for )
of nfant g];]owlt:]hus;zgaf?mended i R REA IO iy P aratal ST AIGNIE
bringing a healthy £ o g _ e s et gl
ReafﬂngR : Colostrum éontains several a““b"d_';s fsRbsaicas Rrset 1 e PP 69 0 2]

 absolutely essential to develop resistance for the v R o et fag OBy e ur'

new born baby. N ; iy ot i @i wll
el : tatements, choose the STt SIIENIO! f"?hf

In the light of the above state s 4 O et e oD

most appropriate answer from the options given T Rgfov ol 2

below : - ' . Goalt Rrisa #4: (O

() Boh A and R are(cérrect but RS HOL €52 1) Aw4tRy3R S aifBfhaqs R, A @3t oif3 b aspwitt <1y
correct cxplanaticﬁ%f A. (. A T

(2) Ais correct but RE¥ not correct. @) Ao Py R @98

3)_Ais not correct bt‘lﬂl is correct. (3) AgdPgR sifdab
@ E:I:llm a1.1d R ::_l: dbirect and R is the correct @) AR g 3 olfd it R Rel Awit 1B AN
anation of A.

R | Contd...
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Match List Iwith List 11

162
List 1 List 11
A. Cocaine I.  Effective sedative in
surgery
B. Heroin 1. Cannabis sativa
C. Morphine 1. Erythroxylum
D. Marijuana V. Papaver sommiferum

Choose the correct answer from the options given

below :

() A-L B-lIl, C-II. D-IV

(2) A-II, B-1, C-I1L, D-IV
A-IIL, B-1V, C-1, D-II

(4) A-1V, B-III, C-1, D-1I

163 Match List I with List II :

List I List II
A. Ptérophyllum I.  Hag fish
B. Myxine II.  Saw fish
C. Pristis IlI. Angel fish
D. Exocoetus IV. Flying fish

Choose the correct answer from the options gwen

below :

A-ITI, B-1, C-II, D-IV
(2) A-IV, B-], C-II, D-III
(3) A-1I, B-1I, C-1, D-IV
(4) A, B-l, C-1II, D-IV

164 Match List I with List II :

ListI List II
A. Pleurobrachia I.  Mollusca
B. Radula. II. Ctenophora
C. Stomochord III. Osteichthyes
D. Airbladder IV. Hemichordata

Choose the correct answer from the options given

-below :

A-II, B-1, C-1V, D-1II
(2) A-II, B-1V, C-1, D-III
(3) A-1V, B-1I, C-II, D-I
(4) A-IV, B-I1, C-11II, D-I

165

on:

10t segment

11th segment 4) 5th segment

166 The flippers of the Penguins and Dolphins are

the example of the

(1) Natural selection
Convergent evolution
Divergent evolution

(4) Adaptive radiation

R6_Bengali+English |

In both sexes of cockroach, a pair of jointed
filamentous structures called anal cerci are present

- (2) 8t and 9t segment

38

162 et [ ad st o G1fian (] ey -
[N ETN ] "1”"-14&1 ]
A. Lo ettt heans Asta g,
A7
B. t=aiza I et e,
C. wnaflm 1. r?fd".(p;;.m;_',;"”

D. sufagsuen v,
fruba Prazstsf3 o1 31054 Bz Rraing "y
(1) A-lL B-III, C-II, D-1v
(2) A-IL B-I, C-III. D-Iv
(3) A-II, B-IV, C-I, D-Il
(4) A-1V, B-III, C-1, D-ll
163  oifet [ wa sicw eIt 1 s
oiftrst |
cSearmIZera (Prerophyllum) |,
Bifaa (Myxine) 1.
Prafesr (Pristis) M. =neres pe,
«eFHIRE7 (Exocoetus) IV. g any
Rreea stgensffr tata AfS Tod Riice 4 -
(1) A-I, B-I, C-II, D-IV
(2) A-1V, B-I, C-I1, D-III
(3) A-lI, B-II, C-1, D-IV
(4) A-ll, B-1, C-III, D-IV

SITEstrear I"Jf."lf.";';r;,.,ﬂ .

SIfReH )
A s

BAIG apy

D Oow»

164 iz 1wz st o1l 1T e -
oIftrsr 1 oIt 11
A. PBeidwie L e
B. angei Il S
C. vonamy . afssmzn
D. auiy sioa IV. afmdier

Rriea faessf (i 133 S Ridee a9
(1) A-II, B-I, C-1V, D-11I
(2) A-IIL, B-IV, C-I, D-II
(3) A-1V, B-III, C-II, D-1
(4) A-1V, B-II, C-1II, D-I

165  siasar @2 59 BHIECIEE DOIA AIR @PTSHYT IS0
HHAQ 5rel N1 oiietiel AIAM/ sBAG Al
(1) w3 4oy (2) SIS @ls P A
(3) aFAM wEy (4) stH ey
166  t1nfRet ads Getfieerd Bostia sy Pretlifbed St
(1) siplos Ridiee
(2) iy Face
(3) @t e
(4) wifuesa-bd Pl
| Contd...
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167 Which of the following statements is

(D M-os't commonly used bio-
stirring type.

Bio-reactors are used 1o produce sm
bacterial cultures.

3) Bio-reactors- have an agit
an oxygen delivery system an
system.

4) A bio-reactor provides optimal growth
conditions for achieving the desired product

incorree(?

all scale

ator system,
d foam control

168 dependent RNA polymerase to the given

template?

3’ TACATGGCAAATATCCATTCAS® ,
5’ AUGUAAAGUUUAUAGGUAAGU3’
5’AUGUACCGUUUAUAGGGAAGU3’

5’ ATGTACCGTTTATAGGTAAGT3’
@5 AUGUACCGUUUAUAGGUAAGU3’

ist I with List II :
169 Ma;..t‘i::tlfm : List II
- Fi joints I.  Adjacent
A" Fibrons vel:]tebrae, limited
movement
ilaginous II. Humerus and
B _ﬁ)?:t;lag Pectoral girdle,
rotational
movement
C. Hinge III. Skull, don’t
joints allow any
movement
D. Balland IV. Knee, help in
socket joints ‘locomotion

Choose the correct answer from the options given

below : :
() A-IL B-III, C-II, D-IV

A-IL, B-TII, C-1, D-IV
A, B-I, C-1V, D-II
A-IV, B-I1, C-I1I, D-I

170 Match List I with List IT :

List I List IT

A. «-1 antitrypsin I. Cotton bollworm

B. CrylAb II. ADA deficiency

C. CrylAc III. Emphysema

D. Enzyme IV. Corn borer
replacement
therapy

%?::3? the correct answer from the options given

AL, B-1, C-I1, D-IV
AL, B-IV, C.I, D11

(4 Al B-1V, C.1, Dy
) AL B, Cv Dy

Rﬁ___Bellga]iq.En glish ]

reactors are g I

which one is the correct product of DNA.

39

167ty e f1gitaf®s 311347

(D) 3ties ssaetarta 41550 NPyl o4 A1yl

UG 41 3B1nfde s14fts4
(2)

I AR BTN $g opogg N1
A-=mie |

iﬁ‘p‘“'ﬁfm MLzA Qb aifayey ey, qalt
OIS S siem 9, a2l o Paziga
BIe™ )
os R 5ot Yaspn U175 40044 (4%
MG g gfing NGNS Nigen uq1194
FYTH o amiey 4l

3)
C))

168 ﬁm RS =I5 Rl DNA g RN A
GRBIGIE Hfb Yo 16l 9

3 ’TACATGGCAAATATCC ATTCAS’

Y gm
) 5 AUGUACC

169 iR [ ug HLS BIfA#1 1] taeny -

BRI Gifer 11
A, ouun ARy . Rigwas
IIEHIAYR,
) N6 Beta
B. omeiBany sy II.  z©uiRa aae
GG WAr,
Horils Pybeta
C. 3o Alkyg L. =@, @Easg
fassial mgps1Bas
D. caita sifty IV, =%, a9 sy
364

fite amo PR (s wids Soa Riaea #a:
(1) A-L B-II, C-1I, D-IV
(2) A-IIL B-II1, C-I, D-IV
(3) A-II, B-I, C-IV, D-II
(4) A-IV, B-II, C-III, D-I

10 it 1 a3 sicen st 11 oenng -

oIftre 1 iRt 11
A.  o-l-SImnEsEsHe .  *% Fasna
B. CryIAb II.  ADA cofsBieafin
C. CrylAc I awsRemn
D. Ygwiss IV. =4 @
sfovarisieeid (41

oifiiat 1 va ot oifdst I tyss
(1) A-III, B-1, C-II, D-IV
(2) A-1I, B-1V, C-1, D-1
(3) A-IIL, B-1V, C-1, D-III
(4) A-II, B-1, C-1V, D-111

[ Contd...

Pathfinder Educational Centre LLP, 47 Kalidas Patitundi Lane, Kalighat, Kolkata-26 & 033-2455 1840 /2454 4817 / 4668



Test Booklet Code : R6

Question with Answer Key

NEET-UG : 2024

PA'I'HFNDERE

Where Aspiration Meets Success

171

172

173

174

175

{ ist Twith List 11 :
M sttt
1. Centriole
: .oneme I
g é::l’:ﬁml 1. Cilia and flagella
em
C gll'lllst'l 111. Chromosome
D. Satellite V. Mitochondria
Cho::\ec the correct answer from the options given
below

(1) A-IV. B-II C-1IL, D-1

rlli A-IL B-1V, C-1, D-III

A-Il. B-L, C-1V, D-III
AIVBHI C-II, D-1

Following are the stages of pathway for

conduction of an action potential through the

heart:

A. AV bundle B. Purkinje fibres

C. AV node D. Bundle branches

E. SAnode

Choose the correct sequence of pathway from the

B-D-E-C-A

options given below :
(1) A-E-C-B-D°

(3) E-A-D-B-C E-C-A-D-B

Given below are two statements :

Statement I : The presence or absence of hymen
is not a reliable indicator of virginity.

Statement I : The hymen is torn during the first
coitus only.

‘In the light of the above statements, choose the

correct answer from the options given below :
Both Statement I and Statement II are false
Statement I is true but Statement II is false
Statement I is false but Statement IT'is true

(4) Both Statement I and Statement II are true

Match List I with List I : -
ListI List IT
A. Common cold | Plasmodium
B. Haemozoin II.  Typhoid
C. Widal test II. Rhinoviruses
.D. Allergy IV.  Dust mites
Choose the correct answer from the options given
below :
A-l, B-1II, C-II, D-IV
A-III, B-I, C- II, D-IV
A-IV, B-II, C-III, D-I
(4) A-II B-IV, C-1I, D-I
Match List I with List II
ListI List IT
A. Typhoid I.  Fungus:
B. Leishmaniasis II. Nematode
C. Ringworm IMI. Protozoa
D. Filariasis IV. Bacteria
Choose the correct answer from the options given

ow
A-1V, B-III, C-1, D-II
A-IIL, B-1, C-1V, D-II

(3) A-II, B-1V, C-I1I, D-I

(4) A-I, B-III, C-II, D-IV

R6_Bengali+English )

40

171

A.
3.
C.
D. smis=4s

G1ffar | ad sieer @fsan [ onengy,

oiffrar |1 G1frs 11
A I 1311235

HiB-sB 8 155 1. 44311 aas wriea,
fer3l . taraesm

IV. i1y
fiesa staeliH o 234 Bad Rraner ag -

(1) A-1V, B-II, C-III. D-I
(2) A-IL B-1V. C-1. D-III
(3) A-II, B-1. C-IV, D-111
(4) A-IV, B-III, C-II, D-1
172 =eBewd feod il iBanfyea sifgasa suoag Aspogfy
. -
A. AVeez aiqewe B, Al o3 Ay
C. AV@Es D. arewterd s sz
E. SA@Ew
Rited Faests)ffl (s 5% sAcd 2151 @A Riegine
od .
(1) A-E-C-B-D (2) B-D-E-C-A
(3) E-A-D-B-C (4) E-C-A-D-B
173 Rus 55 4R o ey :
i 1 2 eiicezna SsiBalfl a1 oregsiBafs
osroElfEg st R a1l
4485 I1 : tiftiee=n gaw ENafee fast 25
et R3PS Aara SEns i gne Praestogfy
A% Foa Biies Ha:
(1) Fgfo [ aas H4fo 11 %wms ga
(2) faafe [ g PAEfs 1 ga
(3) fafs [ g= g faafs [l #fbs
(4) fagis | was Fafs [ Swms as
174 ©ifE 1 a3 s eifes 11 orEn
oiftrat 1 eiftrsr 11

A.  AAsEe A _ I. sIATHIG 7

B. Rararsnas II. ®Ewww

C. waEur &% M. aErEeRIm

' (Widal test)

D. @ IV. wIs Wss
e #ma FFesif (s A% o Riaisa 3
(1) A-l B-III, C-11, D-IV
2 A-Il'l, B-l, C-II, D-IV
(3) A-IV, B-1I, C-III, D-1
(4) A-, B-1V, C-II1, D-1

175 itz 1 wa st i 1 caeng:
oifar 1 oIt 11

A. BIEmay I. ey

B. ot I Reudi

C. fasusnw L enisiesnn

D. wiRgEfasihs IV.  ansish

Ritea Paesisffé cais 2134 Bod RIFIsa A
(1) A-IV, B-1II, C-1, D-11
(2) A-II, B-1, C-1V, D-1l
(3) A-II, B-1V, C-ll1, D-1
(4) A-l, B-llI, C-11, D-1V
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atch List 1 with List1T:
g6 My List 11
' oxpirato I.  Expiratory reserve
& Eqp}:lcily’y volume + Tidal
o volume +
Inspiratory reserve
volume
i Tidt lume +
2 onal 1L [l(l.!I Vo
B. Fm-lgllllf,] Expiratory reserve
res! ci‘t}’ volume
cqp“l cqpacity 1. Tidal volume +
c. Ve Inspiratory reserve
volume
: V. Expiratory reserve
D- Inspiratory volume + Residual
capacity volume |
Choose the correct answer from the options given
ho

176 wifhr | A 3t
Mboq o

@ity |
AL 13- ona Wy
A it ngy

A 1] Raggyey
"HT-'_'*,T I

1. s
LEC TIPS

RTINS AR R
A ey .
"1;1-“| ARy
BB R A TFT Qe
. | i R L E ALAPE
i C D Ang gy,
B [T At
C. A3 =naas @ I ‘:‘Rﬂ“ S
wIaIa ' ;th P
#1131 3}6?:? )
_ MOTax A1) aiy.
D. #~=na1 WAl Al V. Bz Mér:fﬂm
RetBIEBR ety
e T IE 1ic] s 'l

_ DA 13 AT
@16 swa FFesYfE (1 AF4 God iea a4
1) A-IL, B-IIC-IV, D-1 o
f A-II, B-1, C-1V, D-TII
A-lL, B-IIL, C-II, D-IV
54) A-I, B-1V, C-I, D-I1I
Riesd Gte =S RIRYGRAAPT AINE HOIMAG %74 o

pelow * V. D
- B"I]’ C I L)
(1) Q-HI’B-L C-1V, D-11I
(2) 47 g, C-1L DIV
A-Il B-IV: -1, D-111
i ill not affect
: fthe following factors Wi
o o
177 t\?glﬁg,dy-vvcin.berg equilibrium?
(1) Genetic drift
Gene mlgratlox;)o .
nstant gene PP,
@ gznetic recombination
i ith List IL:
s Match List W gisent
s se Peptide bond
' Il,ilup;ease Ester bpqd
" Protease . Glycosidic bond
¢. Ar,g lase IV. Phosphodiester bond
D'Choosg the correct answer from the options given
below 1y, B, C-1, DIV
A-ll, B-TV, C-I, D-
A-TV, B-1, c-111, D-1II
() AV, BL C-IIL, D-
179 Which of the following is not a component of
ian tube?
F]a)no})sﬁ]nms.s Infundibulum
(3) Ampulla (4)) Uterine fundus
180 Match List I with List I : ]
List I List IT
A. Non-medicated IUD I.  Multiload 375
B. Copper releasing [UD Il Progestogens
g. i—]onlnone releasing IUD  IIL Lip(%es loop
amplant IV. LNG-20
E;llﬁose the correct answer from the options given
w:
(1) A, B-IIL, C-IV, D-II
A-IV, B-1, C-II, D-III
A-l11, B-I, C-IV,, D-II
AL B-1, C-II, D-IV
R6 :
..Bengall+Eng|ish ] Al

7
4 (1) corifew Rrwo
(2) FReo IERI]
(3) v Al AT fRerets&l
4) FRasie1o ate
(78 oifisl [ ad st oI 11 et
oiftr#t 1 wiferst 11
A, @B SBIRT Fesidl
B. RioHEs [I. @14 9=
C. it [ =Ry Fee
D. wAIRES V. wAEIYIR @SB qeE
Riced sizelE (AP A3+ od Ried 9 :
1 A-II, B-II, C-L, D-IV
2y A-II, B-IV, C-I, D-III
3) A-IV, B-I, Cc-11, D-II .
4) A-1V, B-I1, C-11I, D-I
179 [fieed @1l wreEE fedrad o™ ax ?
(1) BaAAAd
(2) BewEfygEnd
(3) w@n=gal
S ¢ BE B4R PIYIH
g0 oifti#r 1ad st oifersn ITErEs :
oiftrat 1 oiftrer 11
A, Gaf-REde . wfeny 375
IUD .
B. orafiznge#El I scerEsseE
IUD
C. =zt wHAFE 1. faestar =
IUD '
D. Busines 1V. LNG-20
Rrisa Riaestof¥ (e s+ Tod 16 39
1) A-I, B-III, C-1V, D-II
2) A-1V, B-I, C-II, D-III
gi"; A-III, B-I, C-1V, D-II
4) A-III, B-1, C-II, D-IV
[ Contd...
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1 frhe following is not a steroid hormone?
151 W .:”L;‘-:Jli?:crmw (2) Prng‘ciTCT(‘-T‘-t‘
@ Glucagon (4) Cortisol
182 The following diagram showing restriction sites
in E.coli cloning vector pBR322. Find the role of
«y\"and ‘)7 genes:
EcoR1—-Clal _Hindm
\
Pvu Il
The gene ‘X is responsible for controlling
the copy number of the linked DNA and “}~
for protein involved in the replication of
Plasmid.

(2) The gene ‘X’ is for protein involved in
replication of Plasmid and ‘Y~ for resistance
to antibiotics.

(3) Gene ‘X" isresponsible for recognition sites
and ‘Y’ is responsible for antibiotic
resistance.

(4) The gene ‘X" is responsible for resistance to
antibiotics and ‘¥’ for protein involved in
the replication of Plasmid.

183 Which of the following is not a natural/traditional
contraceptive method? -

(1) Periodic abstinence

2) Lactational amenorrhea
Vaults
Coitus interruptus
184 Given below are some stages of human evolution.

Arrange them in correct sequence. (Past to

Recent)

A. Homo habilis

B. Homo sapiens

C.. Homo neanderthalensis

D. Homo ereclus

Choose the correct sequence of human evolution

from the options given below :

B-A-D-C (2) C-B-D-A
@ A-D-C-B (4) D-A-C-B
185 The “Ti plasmid” of Agrobacterium tumefaciens
stands for
@ Tumor independent plasmid
Tumor inducing plasmid
Temperature independent plasmid
(4) Tumour inhibiting plasmid

R6_Bengali+English | 42

Rrzrsg caral® SRLInT 5 drsng a3 0

ifi
T e L (2

(4)

el

(1)
(3)

S G s rrs

182  ©rsa Rt 3 w3 1R 24 pBR 3224 sponre,
T aae ¥ aq AT o A4

Ecor - CR [ Hind MM
1

Pl
Pst [

Pvu 1

‘X FeEtfS RPraam DNA a4 s1iUhst S0 Raggoeag
syAD gieEPeaE aaa6

(n
Gl gdr )
(1iGletd =il
X Fere T s fnn sRB i 4o 5ifey
el a4 1 ainiqrani®e stttdiag s wa
X fowtf® set1E sarietd @ralt mIl ade ) Paai
ainfesaanibs sibtdinag s=r wEnl

X Paal® emfidananiBa sibuaimd s mi
@qs ‘Y snafy BRI Ar4mo #ifeg

(2)
3
C)

el
Ritsd t1l®d H1fob/ bAiblHo ~MFTS st 47
(1) sfnfer 4fs
(2) yrffsataapil daztaa
3) @
(4) 4o jdo

183

2116 A< PIaGreta S-S s i aell vt 13
oigI(fae10 Lt 481 A1l
A, czesn anfAks
B. i oiBreaon
C.  ¢xieal Lreaeiezicere 3o
©D. &I ZeA-p6
Ritod et (10 Add B3 [1A1bel Sk
(1) B-A-D-C (2) C-B-D-A
(3) A-D-C-B (4) D-A-C-B

GIICEIANPCBENIN BeceFaDl  ad T Ti setioi e

184

185
qraxio [l
(1) [E@a >wag sepihv
(2) [B&uId sl IR
(3) W] g i
(4)  [B&Aa spate iy
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Match List [ with List11: . —2 20 ]

186 st .
A. RNA polymerasell I snRNPs
B. Termination of
transcription Il.  Promotor
c. Splicing of Exons L. Rho factor
p. TATA box IV. SnRNAs, (RNA

@}

187

188

189

Ré6 |

Choose the correctanswer from the options given

below
(1 A

11, B-1I, C-1V, D-I
I, B-1V, C-1, D-TI
ALV, B-III, C-1, D-II
AL B-1V, C-I, D-111

atalytic cycle of an enzyme action,

rrect sequential steps :
mplex formation.

to bind with another

Regarding ¢
select the €O
A. Substrate enzyme cO

B. Free enzyme ready

substrate.
Release of products. .
Chemical bonds of the substrate broken. -

_ Substrate binding to active site. Y
hoose the correct answer from the options given
(]) A: E’) B’ Ds C

B,A,C,D.E
(3) 'E,D,C,B,A E,A, D, C,B
ect statement given below
dullary nephron.
le of juxta medullary nephron
Jies in the outer portion of the renal medulla.
Loop of Henle of juxta medullary nephron
runs deep into medulla.
(3) Juxta medullary nephro
cortical nephrons.

(4) Juxtamedullary nep
columns of Bertini.

C.
D.
E
C
below :

Choose the corr

regarding_juxta me
) Renal corpusc

ns outnumber the

hrons are located in the

Given below are two statements * ,
Statement I': Mitochondria and chloroplasts are

both double membrane bound organelles.
Statement IT ; Inner membrane of mitochondria
is relatively less permeable, as compared to
chloroplast.
Inthelightofthe above statements, choosethe most
appropriate answer from the options given below:
(1) Both Statement I and Statement 11 are
Incorrect. _
(2) Statement I is correct but Statement Il is
incorrect. .
Statement 1 is incorrect but Statement 11 is
@ correct,
) BothStatement I and Statement 11 are correct.

43

186

187

188

189

IR
Fad 5z oy OIRIAL T t3teqyey

A.
B.

C.
D.

e

Gl |

RNA st |1 el
ffbﬂlv:ai a Ii SNRNPs
SIS g s SR LR
‘9{‘31!'7151{}'4 a2

T =R . Rh
TAT,‘\ q . 0%
> IV. SnRNAs.
tRNA

MNis sina I_:I'.F*‘Shlf‘ﬂ e AT TS Rtrmet 4
(1) A-III, B-I1, C-1V. DI =
(2) A‘]I[, B'lV, C_I,‘D-"
(3) A-IV, B-1II, C-1, D-II
(4)  A-IL, B-1V, C-1, D-III

H T S
_,,\I:.:F URBIGLN olefsitet blabd A Afba -

A, Iewies-tons wifter sl

B. 3% Iewios orstd (Mo e tenyana =g
Srelf HIHo|

C. “Gestet mrara gfel

D. e annsnis gee et sl

E. TemietFa A sate GNP Asss

=zl
Riebd Prests (0% #3% Toa RiAies w4
() AE,B,D,C (2) B,A,C,D,E
3) E,D,C,B,A (4 E,A,D,C,B
Gt Ay e A= Riied Afes el Rieiea
F4l : '
(1) wien crgard e swatifona 30 g8
eawrEnE Afgg St v FtEl
wrriT ey iepteid el S (et KEiel
fargo AT
G13Bl (NGE) (elEpErd FHn H[BP1el (SHteld
Heulll OICHHl OiEd (4N
Giaiel PG e ARl ore SR

@

)

el

Rite g Al el SR
frgfs | @ MBTDI= P @3 A5 TONR fasial

AR S|

- PaRoIT : @ICAI=IEo Gotel il RIRIBIFYIE oAz

St IFould #7 (@all
Weirad gl AWRT SRS b A Prap=srs
(e Hide o b “
(1) s a4z R [ Swng gel
(2) Pigfs 1ol g R 1 gl
(3) Frfs | et P Pl 12113+
(4) Frfts | wae Pigqfds 11 9eiR IR
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190 Given below are two statements :
Slfllc‘mcu[ I : Gausc's competitive exclusion
principle states that two closcly related species
competing for different resources cannot cxist
indefinitely.
Statement 11 : According to Gause's principle,
duringcompetition. the inferior will be eliminated.
This may be true if resources are limiting.
In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement Il are false.
) Statement I is true but Statement Il is false.
Statement | is false but Statement Il is true.
Both Statement 1 and Statement 11 are true.
191 The following are the statements about non-
chordates :
A. Pharynx is perforated by gill slits.
B. Notochord is absent.
C. Central nervous system is dorsal.
D. Heart is dorsal if present.
E. Postanal tail is absent.
Choose the most appropriate answer from the
options given below :

(1) A,B&Donly B, D & E only
(3) B,C &Donly A & Conly
192 Match List I with ListIT :
ListI List II
A. Exophthalmic I.  Excess secretion of
goiter cortisol, moon face &
hyperglycemia
B. Acromegaly II. Hypo-secretion
of thyroid hormone
and stunted growth.
C. Cushing’s III. Hyper secretion
syndrome of thyroid hormone &
- protruding eye balls.
D. Cretinism IV. Excessive secretion

) ~ of growth hormone.
Choose the correct answer from the options given

below : .
(1) A-IV, B-II, C-1, D-III

A-ITL, B-1V, C-1, D-I
A-IIL B-IV, C-1, D-II
A-1, B-I1I, C-II, D-IV

193 Match List I with List IT :

List I List IT
A. Mesozoic Era 1. Lower invertebrates
B. Proterozoic Era 1I. Fish & Amphibia
C. Cenozoic Era 1. Birds & Reptiles
D. Paleozoic Era - IV. Mammals

Choose the correct answer from the options given

below :
(1) A-IIL, B-I, C-II, D-IV

A-l, B-11, C-IV, D-III
A-]Hs B']v C'W, D-II
A-ll, B-1, C-lII, D-1vV

R6_Bengali+English | | 44

190 Pt it Pegits v e
a4t 1 2 Gause ad BiGLUAGIYAS AR Ty,
Atat 21 5f8 PAAB Srs1b3fm s1mifts 20141 et flacnt spay,
walt $14%s14 MG Grar AffRA1 b5 21y 4,
Prafts 11 : Gause ad fieam sz, '
SfENPIGI4 HIE 259 HIA SR AT o)
FsuAd Fgils Hasa oA b HAT Pigssn,
Larea AfsH Yom Paisa a4 !
(1) Prafs [ a4: P 113, g
(2) PR [ 913 g Fefs 1T g=
(3) fu4fs | get Fpy MG 1T 7155
(4) Fafo [ aas Pl [1%was 5+

aol-#LUB o Rited faqisyf =4 ¢

191
A, weifia geidl-faa ANEe
B. @nisi#y sieHkns
C. @aa =yog o0
D. =micBiey BsBas ai#ta s{o51H
"E. sty #448) ssx weHpao
Mies gwa Papesisfs (AT A5 T Bidie Fo;
(1) w=asA,Bea:D (2) == B,Dua4:E
(3) w@=sB,Cea:D (4) e=st Aa4:C
192 wifti#r [ ad st wifds! [ taeg :
eIt 1 eIt 11
A, atanE s [. #iBAEE afds S0,
s cal$fo P 94:
: wEBAETEE R
B. ewi@casE 1.  ar34iEe 96aeEE
olg23Rde] @4s 4fhy
=T 6
C. gfafe I WHAEG ZICAIE
G151 o163 oy sHde1 Qe
&% LIEEE FfG
D. @idbRiema STV, e mEcsnEd silE

A
A mna fFessffE (AtH 5% Tow fSiiee 4
A-TV, B-11, C-I, D-III
(2) A-III, B-1V, C-II, D-I
(3) A-IIl, B-1V, C-1, D-II
4) A-IL B-IIL, C-11, D-IV

193 ot 1 wd sewe oifft 1 e

eIt 1 wifEt 11
A.  cawsiE . Frenpitd
IEE ] DA AYR
B. caiericenig II. wea § Yusd
LB
C. PRreentenfis o= L. =158 © AN
D. snfeendie oo (V. soetrsiaN

Ricea Piaeste i (e sifFs Yot Rrisa B
(1) A-IlI, B-I, C-I1, D-1V

(2) A-lL B-II, C-1Vv, D-111

3) A-II, B-l, C-1V, D-11 .

(4) Al B-1, C-1Il, D-1V. N
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n Match List I with List I1: List 11 194 ofar | 0q o it 1 e
19 List | Salivary gland @iy | SR
A Unicellular glandular 1. Salivary glands A. MMM i 1P 1
. T, : a1 ) .
= "hcml]'::(li cpithelium 1. Pancreas . A pen g

B. Cnmpo‘l“ ~ 1. Goblet eells of B. o WMASNAa

C. Multice n.‘-,imclinm alimentary canal C. AZ4tM Al et
nlnlldlll,"r,"I,]-mdular IV. Moist surlace of w1y : P (e P N,

D ‘:l‘l{iOC".li1L1&- B buccal cavity D @!’J.":rr-n - A

e n . ' y - S5 aferny et
Ch'g::,:gfllll:‘:o"“t answer from the options given NS V. mmaias ey
belo™ o g1, C-1. D-1I Fln)sa;dw'%ﬂ}rrim el t
-1V, B-lils 270 =1V, B-III. C-I, D-11 a
,/:-Ill. B-1V, C-1, D-11 (2) A-IL, B-1V, C-I. D1
AL DL g:]\l’ g':{} (3) A-IL B-I, C-IV, D11
|1, B-L, C-1II, D- (4) A-IL, B-L, C-IIL, D-IV
ON i stem, the blood
5 As per AB? ebrl?s?% r(r)I;]cist]l:‘tfgl' ?_ZA* and child is | 195 -ABO _aﬁf?m:ﬂﬂ‘"m' f"ﬁ!ﬁgﬂmw% B*. mo= A+
19 group of fath tive ’ enotype ¢an be . CEH ﬂagg.cw /9 AT (SIS S At
O. Their respective & g IBIB/IAIA /i A. IBi/IAi/ii B. IBB/IAA /5
A Iﬁig}ﬂ,{}‘lsi D. IAi/IBi/14 C. 1”};13/ iIA/ 1% D. IAi/IBi/ 1A
COAP /g ' E. iIB/ilA/IAI
i flllAlgéstl appropriate answer from the N ana Paests]fé (1 155 I3 Riioa w4
Choose the I : (1) 4 B (2) == Caa: B
optiogs gl]v;n below : C & B only (3) @@ DuaatE (4) w@==A
(1) Bon 8 Aonly ] _ .
(3) D& E only - “) 4 to digestive system 196  omvnea GRS owe i eIt | ag Ar
¢ Match List I with List I relate oifa 11 Grely frat 11
19 kroach. it TI I oIfr

oc : List oIS

Of:,istl I Gizzard 551f® wirar ABCHA fiis [ Pronw
A. The structures usﬁd ' o ;msﬂfﬂw CICIRCER II. st i

" for storing of food. II. Gastric B. el

ing of 6-8 blind Caeca warslfEes dleld Al

= Sl?ugles at junction 0 —— saze1 TP 6-8 B wiol
i t. <1 .
foregut and midgu 1. Malpighian aifapIae 54 )

C. ng Ode?hoi;Il 50 yellow II tubulfes C. wunsies G IRCER 1L Ti!:_,df‘}‘(i?.'imlﬁ!
?'?ﬁluéﬁts at junction of C O spplq (IR Al SILETERL
n:idgut and i“dgué' Iv. Crop 'mmmwc; 391'3""‘:?

tures use : -150 &5 =en Ftels
D_' {'El}egf_?;]l:ﬁng the food'er from the Op‘[ions giVEH . ;?(25" WQ elﬁig
Choose the correct answ D. stsail® wimr consors wenr IV, @1
: ; F4:
belo\’j\-. [ B-I, C-IIL, DIV Aoz R (0F Af>+ &od Rrarea
@A ey
A-ITL B C-1V, D- (2) A-1V, B-LI, C-1, -
A-1V, B-1I, C-111, D-1 3) A-II, B-1I, C-1V, D-1
: _IV, B-1I, C-11I, D-I
1 G below are OSSN pig | () ATGETL CL D
Eg;:ﬂigre all blood cells including lymphocytes | 197 fg&ﬁms& mm?,. EG ﬂﬂl;l’ frrY AT I ATF
are produced. d thymus - o g% a1 Fesi= =3l
. Both bone marrow and thy RitspisilZE R AFe
ﬁ:::?ﬁ%}cg CHVimnmerll‘lts for the development Praftsll: T-Ricsp1aRi0H sFavipder a3 sai?ﬁwi:ﬂa' Lol
i s ocyltes. = 2 Il $d
ﬁ?&ﬁgﬁ;ﬁ?&l ggvggtnal:em e?ltt_s, choose tltl)z igaff gﬁzﬁ;g;zz:ﬂa?g ::’f c:‘ﬁ“;sa sns Pasestyfé
i from the options given : 4 4
?Ffrogg?ﬁeg?:g%ent_l andpStatement IT are (e A5 A fémbg ;‘%‘w A
i . . faqfs [ @t 149 R e
(v3) Tsntg?grmegtm I is correct but Statement II is 8; f’q;ﬂﬁ I i g Rl [ ger
Incorrect. : i s [ A=
is i t Statement IT is (3) Pl [ga g g
3) Eﬁggént I 1Is incorrect bu b Pl ] s Bl [ Sww® s
Both Statement I and Statement [1 are correct. .
- [ Contd...
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Test Booklet Code : R6

Question with Answer Key

NEET-UG : 2024

PA'I'HFNDERE

Where Aspiration Meets Success

198 Si\'cn below are two statements : 198 P gl faogfts ez s
Statement 1 : The cerebral hemispheres are i T oA e T BT E i
connected by nerve tract known as corpus Prffs 1z f corfiaeien o ’T‘ 16 SIYAT BN Sty
callosum. MeLNFAAG, b AN AN Alef]
Statement 11 : The brain stem consists of the PRl 11 ¢ ABo™ D% LI A tiB, srgm
medulla oblongata. pons and cerebrum. A A qEors sadr Aol
In the light of the above statements, choose the ’ ; ‘ ) .
most appropriate answer from the options given Gorad Pl AR ANANS N 47T Prarapy
below : e A Tod e Fa
(1) Both Sttatement 1 and Statement II are (1) Piafts [ ase Pl [ Grwrais gt
incorrect.
@ §tatement I is correct but Statement Il is (2) faafs 1 515 g P 11 ga
N 1Sncorrect. . e — (3) Fafs [ gt g Ffo 1T 515+
tatement | 1s incorrect but Statement 11 18
( correct. l oo (4) P [ a4 Fagfs 11 %ww3 afs+
4 ect.
( ) Both Statement I and Statement 11 are corr | Bl AR B AN (B [0
199 Identify the correct option (A), (B), (C), (D) with (D) ~az Fl
respect to spermatogenesis.
S Gk
| : | I— :
LH @) & @
! | v :
e
Androgens Factors _ Andrfgens Faitors
1 \) ” :
f tids
Formation of spermatids ®) Formation of sperma D)
(1) ICSH, Interstitial cells, Leydig cells, (1) ICSH, Riorafoftet i, RiRvt i,
spermiogenesis. . '
(2) FSH, Sertoli cells, Leydig cells, IR
spermatogenesis. _ (2) FSH, sndef @9, Rifys @, sstaisimsie o
(3) ICSH, Leydig cells, Sertoli cells, (3) ICSH, RiRy=t 1=, iR s, sstrafiiBiceicaiio
' spermatogenesis. ) :
F%eH, Leydig cells, Sertoli cells, (4) FSH, Rift @13, 1808 @13, sufiocsian
) BPELIICRIHESS 200 i 1ad et oo 1 o
200 Match List I with ListIl: eiftrst 1 eifrs 11
List I List II A. Poaw . st ofyeso @it
A. Pwave - 1. Heart muscles are o
electrically silent. Mad
B. QRScomplex I Depolarisation of B. QRS- &P Il Rrexsead oo
: ventricles. oo s
. g 4G
C. Twave MI. Depolarisation of C. T o3 IIL wiftranyfa R
_ atria. D. T-Pemisi IV. FEsess
D. T-Pgap IV. Repolarisation of spetzorAcel
ventricles. ] o
Choose the correct answer from the options given Ritga st (e afds Tod fisa
below : ) (1) A-IIL, B-II, C-1V, D-I
A-II1, B-11, C-IV, D-1 L B-IIL, C-1, D-IV
p A T g OO u\:'BB 1L, C-1, D-1II
(3) AV, B, C-I, D-lI P @Radv, Bl EL e
(4) A-lL B, C-IV, D-II (4) A-L, B-IlI, C-1V, D-ll
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